
CLASS – V 

SUBJECT – MATHEMATICS 

TOPIC-MULTIPLICATION AND DIVISION OF DECIMAL NUMBERS 

BASIC LEVEL QUESTION 

[A] Answer the following questions (Each question carry 1 mark)  

1. 1.7 ÷ 10 = _______ 

2. 3.1 × 0.04 = ________ 

3. 11.7 ÷ 6 = ________ 

4. 0.3 x 4 =___________ 

5. 0.8 x 0 =___________ 

6. 4.9 ÷7=___________ 

7. 19.32 x 100=_________ 

8. 0.95 x_______=950 

9. __________ x 1=4.7 

10. 95.601 x __________= 0 

[B] Answer the following questions(Each question carry marks)   

11. Divide 9.63 by 0.09 

12.  One box of oranges weights 25.25Kg. Find the weight of 100 such boxes of 

oranges. 

13. Find the product of 0.3, 0.03 and 0.003. 

14. Find the product :8.1 x 5.3 

15. Divide :1.44÷1.2 

16. Convert the following fraction into decimal number   

3

4
 

 

17. Divide  : 5.321 ÷5.321  

18. Divide 65 by 0.013 

19. Find the quotient of the division : 1.5 by 12 

20. Multiply : 0.1135 x 0.72 

[c] Answer the following questions (Each question carry 3 marks). 

21. If  504× 12 = 6048 then find the value of 0.504 ×  0.12 



21. Convert into decimal (i) 1
�

�
   and (ii)  

��

��
 

23. 23 tins can hold 48.634 litres of oils. How much oil can be one tin hold ? 

24. Cost of 23 pencils price is Rs 608.305 .Find the cost of one pencil cost ? 

25. Gyana require 2.25 m cloth to stitch a skirt . How many skirts can be stitch 

by 20.25 m cloth ? 

[D] Answer the following question (Each question carry 5 marks). 

26. Ramesh distributed 3.5 Kg apples among some poor children. If each child is 

to be given 0.5kg of apples.  

i)How many children get the apples? 

ii)What quality of Ramesh is exhibited here? 

27. Bunty bought 25 chocolates for Rs 56.25.Find the cost of one chocolate ? 

28. i) Divide 1.6 by 0.4 

     ii)Divide 9.63 by 0.09 

29. Find the product : 

      (i) 4.2  by 0.56 

       (ii) 11.35 by 7.2 

30. Pooja needs five pieces of ribbon of length 7.5 cm .What is the total length of 

ribbon required ? 

 

 

 

  


